Pre-Calculus A Name :
Section 5.4 Practice Day 2 Date :

Simplify the following expressions.
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Prove the following identities.
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5. cos(ﬂ—9)+sin(%+9)=0
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Find the solution(s) of the equation in the interval [0,27).
6. sin(x+7)—sinx+1=0

SIS T + osx T -s X+l <0

sx () + Los/(o) sk il=0

=SMA-sinX+1=0
- 25X =~
=1
StX 3

X=T 6
! o

7. cos(x+£ -1 =cos(x—£)
4 4

wsnfos I _ g ) - v T .
m SR SN Y | = COSXK m + SINXSN m El: - SN
- Wk IL -l L e
_ Y ¥
-3
TUROAT A = sk T ?
5N sm% «smmn% \X’ g‘qr o

= asmxa\n%
R YEE)
(\_é)smx

-1= 800X



8. sinf x+— |—-sin| x—— [=—
: 6 6 2

w g w “-) z 'L
S0l T 4 cosxan (smst PRSI )

ol - T xsiT- 1
smxy(b teoxsin 1 s\n}/osg +IXSIT =5

T.L
woxenT - L

}\(i) W= =

X3

x:l_l'sﬂ'
3'3'1

. T
9, s1n()c+aj—cos2 x=0

XS T+ exan T _ o2k = 0
SIX () + X (1) -cos?x =0
WX~ g% = 0
(bx (1 -Wsx) =0

WsX=0 \-QsX=0

x=1{,3rr} Iz s X
3' 3
x:o’




